
R0E436640CFK20
Converter Board for 64-pin 0.5mm pitch LQFP

User’s Manual
* IC149-064-075-B51 is a trademark of Yamaichi Electronics Co., Ltd. 
 

Keep safety first in your circuit designs! 
 Renesas Technology Corporation and Renesas Solutions Corporation put the maximum effort into making semiconductor products 
better and more reliable, but there is always the possibility that trouble may occur with them. Trouble with semiconductors may lead to 
personal injury, fire or property damage. Remember to give due consideration to safety when making your circuit designs, with 
appropriate measures such as (i) placement of substitutive, auxiliary circuits, (ii) use of nonflammable material or (iii) prevention 
against any malfunction or mishap. 

 
 

Notes regarding these materials 
 These materials are intended as a reference to assist our customers in the selection of the Renesas Technology product best suited 
to the customer's application; they do not convey any license under any intellectual property rights, or any other rights, belonging to 
Renesas Technology Corporation, Renesas Solutions Corporation or a third party. 
 Renesas Technology Corporation and Renesas Solutions Corporation assume no responsibility for any damage, or infringement of 
any third-party's rights, originating in the use of any product data, diagrams, charts, programs, algorithms, or circuit application 
examples contained in these materials. 
 All information contained in these materials, including product data, diagrams, charts, programs and algorithms represents information 
on products at the time of publication of these materials, and are subject to change by Renesas Technology Corporation and 
Renesas Solutions Corporation without notice due to product improvements or other reasons. It is therefore recommended that 
customers contact Renesas Technology Corporation, Renesas Solutions Corporation or an authorized Renesas Technology product 
distributor for the latest product information before purchasing a product listed herein. The information described here may contain 
technical inaccuracies or typographical errors. Renesas Technology Corporation and Renesas Solutions Corporation assume no 
responsibility for any damage, liability, or other loss rising from these inaccuracies or errors. Please also pay attention to information 
published by Renesas Technology Corporation and Renesas Solutions Corporation by various means, including the Renesas home 
page (http://www.renesas.com). 
 When using any or all of the information contained in these materials, including product data, diagrams, charts, programs, and 
algorithms, please be sure to evaluate all information as a total system before making a final decision on the applicability of the 
information and products. Renesas Technology Corporation and Renesas Solutions Corporation assume no responsibility for any 
damage, liability or other loss resulting from the information contained herein. 
 Renesas Technology semiconductors are not designed or manufactured for use in a device or system that is used under 
circumstances in which human life is potentially at stake. Please contact Renesas Technology Corporation, Renesas Solutions 
Corporation or an authorized Renesas Technology product distributor when considering the use of a product contained herein for any 
specific purposes, such as apparatus or systems for transportation, vehicular, medical, aerospace, nuclear, or undersea repeater use. 
 The prior written approval of Renesas Technology Corporation and Renesas Solutions Corporation is necessary to reprint or 
reproduce in whole or in part these materials. 
 If these products or technologies are subject to the Japanese export control restrictions, they must be exported under a license from 
the Japanese government and cannot be imported into a country other than the approved destination. Any diversion or reexport 
contrary to the export control laws and regulations of Japan and/or the country of destination is prohibited. 
 Please contact Renesas Technology Corporation or Renesas Solutions Corporation for further details on these materials or the 
products contained therein. 

 
Precautions to be taken when using this product 

 This product is a development supporting unit for use in your program development and evaluation stages. In mass-producing your 
program you have finished developing, be sure to make a judgment on your own risk that it can be put to practical use by performing 
integration test, evaluation, or some experiment else. 
 In no event shall Renesas Solutions Corporation be liable for any consequence arising from the use of this product. 
 Renesas Solutions Corporation strives to renovate or provide a workaround for product malfunction at some charge or without charge. 
However, this does not necessarily mean that Renesas Solutions Corporation guarantees the renovation or the provision under any 
circumstances. 
 This product has been developed by assuming its use for program development and evaluation in laboratories. Therefore, it does not 
fall under the application of Electrical Appliance and Material Safety Law and protection against electromagnetic interference when 
used in Japan. 

 
 

 
CAUTION If the requirements shown in the "CAUTION" sentences are ignored, 

the equipment may cause personal injury or damage to the products. 

 
 
 Renesas Tools Homepage  http://www.renesas.com/tools 

Rev.2.00 
Feb 15, 2007 
REJ10J0921-0200 

(1/4) 



1. Outline 
 
The R0E436640CFK20 is a converter board for connecting the 
compact emulator R0E436640CPE00 for H8/300H Tiny Series 
to a foot pattern for 64-pin 0.5mm pitch LQFP 
(PLQP0064KC-A) of H8/3664 Group. 
 
 
2. Package Components (See Figure 1) 
 
Table 1 Package Components 

Item Quantity
(1) R0E436640CFK20 

(Base board R0E436640CIF00 and 150mm 
FFC cable included) 

1 pc. 

(2) IC149-064-075-B51 
(made by Yamaichi Electronics Co., Ltd) 1 pkg. 

Screws (M2 x 12mm) 4 pcs. 
Flat washers (for fixing the converter board) 4 pcs. 
IC socket 1 pc. 
Socket cover 1 pc. 
Screws (M2 x 6mm) 4 pcs. 
Flat washers (for on-board evaluation) 4 pcs. 

(3) R0E436640CFK20 User's Manual  
(This manual) 1 pc. 

 
3. Specifications 
 
Table 1 Specifications 

Applicable group 

H8/3664 Group, H8/3664N 
H8/3694 Group, H8/3694N 
H8/3687 Group, H8/3687N 
H8/3672 Group, H8/36077 Group 
H8/36014 Group, H8/36079 Group 
H8/36064 Group, H8/36094 Group 
H8/36087 Group 

Applicable package PLQP0064KB-A (previous: FP-64K)
PLQP0064KC-A (previous: FP-64E) 

Insertion/removal 
iterations of 
connector 

Between R0E436640CPE00 and 
R0E436640CFK20: 
50 times guaranteed 

 
 
4. Usage (See Figure 2) 
 
The R0E436640CFK20 can be used for debugging and board 
mounted evaluation in common by mounting an IC socket on 
the user system. 
 
(1) For debugging 

Mount the IC socket on the foot pattern of the user system 
in that order. 
After connecting the R0E436640CPE00 and 
R0E436640CIF00, connect the R0E436640CFK20 to the 
IC socket. And fix them with the screws (M2 x 12mm) 
included with the R0E436640CFK20. 

 
(2) For onboard evaluation 

Mount an H8/300H Tiny Series MCU in that order on the 
IC socket on the user system. And fix them with the 
screws (M2 x 6mm) included with the R0E436640CFK20. 

 
Before using the R0E436640CFK20, be sure to read "7. 
Precautions" on page 4 and the R0E436640CPE00 User’s 
Manual. 

 
 
 
 
 
 

 

Screws (M2×12mm)
Flat washers 

(For fixing converter board) 
IC socket

Socket cover

R0E436640CFK20

Screws (M2×6mm) 
Flat washers 

(For on-board evaluation) 

Figure 1 Package components of the R0E436640CFK20 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Screws (M2×6mm) *

*：These products are included with the R0E436640CFK20 pakcage.

64-pin 0.5mm pitch foot pattern
(PLQP0064KB-A, PLQP0064KC-A)

IC socket *

Socket cover *

MCU with on-chip 
flash memory etc.

R0E436640CIF00

R0E436640CFK20

(1) Debugging

(2) On-board evaluation

R0E436640CPE00
Screws (M2×12mm) *

Flat washers *

Flat washers*

● : No.1 pin

●

●

●

●

 
Figure 2 Usage of the R0E436640CFK20 

(2/4) 



 

(3/4) 

5. Connection Procedure (See Figure 3) 
 
The procedure for connecting the R0E436640CFK20 is shown 
below. 
 
(1) Mount the IC socket on the user system. 
(2) Connect the R0E436640CPE00 and R0E436640CIF00. 
(3) Connect the R0E436640CFK20 and IC socket. 

Fasten the IC socket to the socket cover with the four 
screws (M2 x 12 mm) provided. Each screw should be 
tightened a little at a time, alternating between screws on 
opposing corners. Take special care, such as manually 
securing the IC socket soldered area, to prevent the 
soldered IC socket from being damaged by overtightening 
the screws or twisting the components. 
● When connecting the IC socket and socket cover, use 

a Phillips-type screwdriver whose head matches the 
screw head. 

● If the applied torque cannot be accurately measured, 
stop tightening when the force required to turn the 
screw becomes significantly greater than that needed 
when first tightening (The tightening torque must be 
0.13 N•m or less). If a screw is tightened too much, 
the screw head may break or an IC socket contact 
error may be caused by a crack in the IC socket 
solder. 

● If the emulator does not operate correctly, cracks 
might have occurred in the solder. Check conduction 
with a tester and re-solder the IC socket if necessary. 

 

 
 
 

 

(1)

(2) (4)

(3)

64-pin 0.5mm pitch foot pattern
(PLQP0064KB-A, PLQP0064KC-A)

IC socket *

R0E436640CIF00

R0E436640CFK20

R0E436640CPE00
Screws  (M2×12mm) *

Flat washers *

 
Figure 3 Connection procedure of the R0E436640CFK20 
 
 

6. External Dimensions and a Recommended Foot Pattern (See Figure 4) 
Note that the dimensions of the recommended foot pattern in Figure 4 are somewhat different from those of the actual foot pattern. 

 

 

47.0

14
.0

44
.0

0.30±0.05

0.50±0.05

10.0(max10.10)

14.0(mn13.50)

10
.0

(m
ax

10
.1

0)

14
.0

(m
n1

3.
50

)

Unit: mm

R0E436640CFK20 REV.A
MADE IN JAPAN

Figure 4 External dimensions and a recommended foot pattern of the R0E436640CFK20 
 



 

(4/4) 

7. Precautions 
 

 CAUTION 

Cautions to Be Taken for This Product: 

 
 Do not connect anything to the NC pins. 
 Do not pull or excessively flex the cable. The cable may cause a break. 
 When connecting the emulator and IC socket, be sure to use the included screws (M2 x 12mm). 
 When connecting the IC socket and socket cover, be sure to use the included screws (M2 x 6mm). 
 When connecting the IC socket and socket cover, use a Phillips-type screwdriver whose head matches the screw 
head. 
 If the applied torque cannot be accurately measured, stop tightening when the force required to turn the screw 
becomes significantly greater than that needed when first tightening (The tightening torque must be 0.29 N•m or 
less). If a screw is tightened too much, the screw head may break or an IC socket contact error may be caused by a 
crack in the IC socket solder. 
 If the emulator does not operate correctly, cracks might have occurred in the solder. Check conduction with a tester 
and re-solder the IC socket if necessary.  
 Fasten the IC socket to the socket cover with the four screws (M2 x 6 mm, with flat washers) provided. Each screw 
should be tightened a little at a time, alternating between screws on opposing corners. Take special care, such as 
manually securing the IC socket soldered area, to prevent the soldered IC socket from being damaged by 
overtightening the screws or twisting the components. 
 After checking the location of pin 1 on the IC socket, apply epoxy resin adhesive to the bottom of the IC socket, and 
fasten it to the user system before soldering. 
 Be sure to completely solder the leads so that the solder slops gently over the leads and forms solder fillets. (Use 
slightly more solder than the MCU.) 

 

IMPORTANT 
Notes on This Product: 

  We cannot accept any request for repair. 
 For purchasing the IC149-064-075-B51, contact the following: 

 Yamaichi Electronics Co., Ltd.  http://www.yamaichi.com/ 
 For inquiries about the product or the contents of this manual, contact your local distributor. 

 Renesas Tools Homepage http://www.renesas.com/tools 
 

 


	1. Outline
	2. Package Components
	3. Specifications
	4. Usage
	5. Connection Procedure
	6. External Dimensions and a Recommended Foot Pattern
	 7. Precautions


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


